KEYSCO TOOLS
DIVISION OF S&H INDUSTRIES
5200 Richmond Road e Cleveland, OH 44146

Phone 216-831-0550 e Toll Free 800-253-9726 e
Fax 216-831-9573

SINcE 1922 www.shindustries.com
E-Mail: www.service@shindustries.com
MADE IN THE USA Rev. 1/19/12

KEYSCO PARTS CART - 77727

The Keysco Parts Cart includes three large trays for moving or storing all your shop supplies. The
unit also features five heavy-duty hooks for hanging miscellaneous tools or parts. Two of the four
swivel casters lock to prevent roll.

\ r3 Z.
AN \/\

\
1
2 -
2% R
N !
A * S
b N& TSRO
N z _:‘ BRSES
PR e
3 N : 2
N® @ %
p SR E;:~ SR ™ 8
R RS <
A o
4 §Q R : "%':":‘:x DS 9
-
> 10
Key # | Part# | Description Qty. | Key# | Part# Description Qty.
1 11103 | Shelf (upper) 1 6 10182 | 1/4-20 x 1/2 Screw 32
2 10515 | Leg 4 7 10522 | “S” hooks 5
3 10521 | Shelf assembly 2 8 10755 | Swivel caster 2
4 11099 | Shelf (lower) 1 9 10202 | 3/8-16 Hex nut 4
5 10201 | 1/4-20 Hex nut 32 10 10756 | Caster with brake 2

ASSEMBLY INSTRUCTIONS
DO NOT TIGHTEN HARDWARE UNTIL ALL PARTS ARE INSTALLED

1. Install two locking casters (#10) and two swivel casters (#8) to lower shelf (#4) using the four 3/8” hex nuts
(#9).

2. Install four legs (#2) to the lower shelf, using 1/4-20 screws (#6) and 1/4-20 nuts (#5).

3. Install shelf assembly (#3) and upper shelf (#1) to legs, using 1/4-20 screws (#6) and 1/4-20 nuts (#5).

4. Hang S-hooks (#7).




